Temel Tlrev Formulleri

(u=u(x), v=v(x); u’:d—u, v’:ﬂ mevcut)
dx dx
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¢'=0 (c sabit), ") =nu"u",
(cu)' =cu’, (@’) =u'a" /na
utv)=u=+Vv, (") =u'e"

(uv)' =uv+uv' , u' g1
log.u)=—Ilog,e |=——|,
(log, u) ;109 [ . éna}

u,, uv-uv
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dx dt dx dx
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3
(sinu)' =(cosu)u’ ,
(cosu)' =—(sinu)u’ ,
(tanu)’ = (1+tan?u)u’ [:( 12 )u’:(seczu)u’},
cos” U
(cotu)’ = —(1+cot? u)u’ {:—( ,12 Ju’ = —(csc? u)u’} ,
sin“u
(arcsinu)’ = , (arccosu)' =— u (|ul<1),
1-u? 1-u

(sinhu)’ = (coshu)u’, (coshu) =(sinhu)u’,

(tanhu)’ = (1—tanh?u)u’, (cothu)'=(1—coth?u)u’.
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